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hash_table: proc;. .. ... ..

dcl (newkey, newvalue) flxed;

dcl n fixed;

n =8, /+ this should be done with Initial ;}/" T

dcl 1 table(n),
2 (full, skip) bit(1), 1
2 (key, value) fixed, e
ctl(p);
dcl q ptr; .
dc1 (error, delerr, fallure) l1abel;
del n_min fixed; - !

n_min = 8; /+ This should be dohe with "Inltial" attribute, +/

del (1iml, 1im2) float; . . e
1iml = 0,33e0; 1im2 = 0,67e0; /+ (Inltial,.,, */
dcl (hash, i, j, m, old_n, new_n) fixed; o

/* iInitialize table w/

~call ipnitialize; .
return;.

initialize: proc; -~..

m=0; 0 ‘ :
allocateable set(p);
~do I =1 to n; ' e e
~end;
return;

end Initialize;

lookup: entry(newkey, newvalue, error);
hash = mod(newkey, n-1); .
loopl: i
do | = hash to n, 1 to hash-1; e
If On p -ug table(l).full then ; ' ‘
do; If un p -Og table(i),skip then g0 to error; end;
else if newkey = p -ng table(l).key then
do; : . ;
newvalue = p -lg table(i),value;
return;
end;
end loopl;

go to error; /* not found In full tabie:;wéﬂéufdiﬁé.fﬁboégYGIe"

enter: entry(newkey, newvalue, error);
hash = mod(newkey, n-1);
loop2: Lo
do I = hash ton, 1 to hash=-1;
If on p -ng table(1),full then
do;
~lg table(i).key = newkey;
~ig table(i).value = newvalue;
-Og table(i),.full = "1"p; T T
=m+ 1;
f miog 1im2*n then
o;

ER-R-R-

Q. ==

T N it S e St w51 ot 0. et e e s <+ oo

s e E TR PSR UUGIS S

» <lg tabie(1).full, s -tg tableCi),skip = Moty



new_n = l ( ][mZ/] Iml)- t..,n, ;.,..,.f,.,...,._m....g..,f‘,,... P e e

fallure = error;
go to rehash;
" end; '
else return;
end;
“end loop2;
go to error;

end loop3;

go to delerr; /* not found In full tébfel- should be Impossible */

rehash:

old_n = n;

n = new_n;

q = p;

allocate table set(q);
call initiallze;

/* table‘overfloﬁ - sﬁéhf&mbe T$b6§;f6ié

/* mark skip w/

- P
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delete: entry(newkey, delerr);
hash = mod(newkey, n-1);
- loop3: : S .
do | = hash to n, 1 to hash-1; '
If p -ig table(l).full then
as:
do; ' :
If newkey = p -ng table(1).key then
. b3: - e . o S
-, do;
p -Og table(l),full = "(o"p;
J = mod(i+l, n);.
p -Og table(i),skip =
p -kg table(j).full ¢ p -ng table(j).skip;
If mOl 1iml *» n then
c3: ‘
do; 4
...newn = (1iml1/1im2) # n; .

- If new_n U1 n_min then return;
fallure = delerr; : :
go to rehash;

end c3;
" return;
end b3;
end a3;
- else

If on -ng table(i).skip then: go tq'delérr;“/; no entfy‘féﬁad‘q

looplh: e e e e e

do 1 =1 to old_n; :
if q -0g table(1),full then
call enter(q -0Og table(i),.key,
end loopl;

free q -lg table;
return;

end hash_table;

‘q =-hg table(l).value,'fallure):.
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